Multi	plying	bv	10	(A)
111 (11 (1	P1,1115	$\boldsymbol{\mathcal{O}}_{\boldsymbol{\mathcal{J}}}$	10	(* *)

Name:	Da	ite:	Score:
	Calcul	ate each product.	
$7 \times 10 =$	$5 \times 10 =$	$3 \times 10 =$	6 × 10 =
$12 \times 10 = \boxed{}$	$1 \times 10 =$	8 × 10 =	$4 \times 10 =$
$8 \times 10 =$	$5 \times 10 =$	$7 \times 10 =$	$3 \times 10 =$
$5 \times 10 =$	$9 \times 10 =$	11 × 10 =	$2 \times 10 = \square$
$10 \times 10 = \square$	$10 \times 10 = \square$	$4 \times 10 =$	$3 \times 10 =$
$0 \times 10 =$	$3 \times 10 =$	$3 \times 10 =$	$9 \times 10 = \square$
$3 \times 10 =$	$12 \times 10 = \square$	$0 \times 10 =$	$7 \times 10 =$
$1 \times 10 =$	$2 \times 10 =$	$5 \times 10 =$	$10 \times 10 = \square$
$4 \times 10 =$	6 × 10 =	$9 \times 10 =$	$5 \times 10 =$
$2 \times 10 =$	$7 \times 10 =$	8 × 10 =	$4 \times 10 =$
$6 \times 10 =$	$11 \times 10 = \square$	$1 \times 10 =$	$1 \times 10 =$
$9 \times 10 =$	$8 \times 10 =$	$6 \times 10 =$	$12 \times 10 = \square$
$11 \times 10 = \square$	$4 \times 10 =$	$2 \times 10 =$	$0 \times 10 =$
$11 \times 10 = \square$	$0 \times 10 =$	$10 \times 10 = \square$	$8 \times 10 =$
$0 \times 10 =$	$5 \times 10 =$	$12 \times 10 = \square$	$6 \times 10 =$
$10 \times 10 = \square$	$11 \times 10 = \square$	$12 \times 10 = \square$	$11 \times 10 = \square$
$4 \times 10 =$	6 × 10 =	$0 \times 10 =$	$9 \times 10 = \square$
$2 \times 10 =$	$7 \times 10 =$	$7 \times 10 =$	$11 \times 10 = \square$
$6 \times 10 =$	$12 \times 10 = \square$	8 × 10 =	$6 \times 10 =$
$12 \times 10 = \square$	$4 \times 10 =$	$2 \times 10 =$	$1 \times 10 =$
$7 \times 10 =$	$1 \times 10 =$	$10 \times 10 = \square$	$3 \times 10 =$
$3 \times 10 =$	$10 \times 10 =$	$5 \times 10 =$	$0 \times 10 =$
$8 \times 10 =$	$2 \times 10 =$	9 × 10 =	$4 \times 10 =$
$1 \times 10 =$	$0 \times 10 =$	11 × 10 =	8 × 10 =
$9 \times 10 =$	$9 \times 10 =$	$1 \times 10 =$	$2 \times 10 = \square$

Multiplying by $10(\Delta)$ Answers

Watapiying by 10 (A) Allswers							
Name:			Date:			Score:	
		Ca	lculate	each product.			
$7 \times 10 =$	70	$5 \times 10 =$	50	$3 \times 10 =$	30	$6 \times 10 =$	60
$12 \times 10 =$	120	$1 \times 10 =$	10	$8 \times 10 =$	80	$4 \times 10 =$	40
$8 \times 10 =$	80	$5 \times 10 =$	50	$7 \times 10 =$	70	$3 \times 10 =$	30
$5 \times 10 =$	50	$9 \times 10 =$	90	$11 \times 10 =$	110	$2 \times 10 =$	20
$10 \times 10 =$	100	$10 \times 10 =$	100	$4 \times 10 =$	40	$3 \times 10 =$	30
$0 \times 10 =$	0	$3 \times 10 =$	30	$3 \times 10 =$	30	$9 \times 10 =$	90
$3 \times 10 =$	30	$12 \times 10 =$	120	$0 \times 10 =$	0	$7 \times 10 =$	70
$1 \times 10 =$	10	$2 \times 10 =$	20	$5 \times 10 =$	50	$10 \times 10 =$	100
$4 \times 10 =$	40	$6 \times 10 =$	60	$9 \times 10 =$	90	$5 \times 10 =$	50
$2 \times 10 =$	20	$7 \times 10 =$	70	$8 \times 10 =$	80	$4 \times 10 =$	40
$6 \times 10 =$	60	$11 \times 10 =$	110	$1 \times 10 =$	10	$1 \times 10 =$	10
$9 \times 10 =$	90	$8 \times 10 =$	80	$6 \times 10 =$	60	$12 \times 10 =$	120
$11 \times 10 =$	110	$4 \times 10 =$	40	$2 \times 10 =$	20	$0 \times 10 =$	0
$11 \times 10 =$	110	$0 \times 10 =$	0	$10 \times 10 =$	100	$8 \times 10 =$	80
$0 \times 10 =$	0	$5 \times 10 =$	50	$12 \times 10 =$	120	$6 \times 10 =$	60
$10 \times 10 =$	100	$11 \times 10 =$	110	$12 \times 10 =$	120	$11 \times 10 =$	110
$4 \times 10 =$	40	$6 \times 10 =$	60	$0 \times 10 =$	0	$9 \times 10 =$	90
$2 \times 10 =$	20	$7 \times 10 =$	70	$7 \times 10 =$	70	$11 \times 10 =$	110
$6 \times 10 =$	60	$12 \times 10 =$	120	$8 \times 10 =$	80	$6 \times 10 =$	60

$12 \times 10 =$ $1 \times 10 =$ 120 $4 \times 10 =$ $2 \times 10 =$ 40 20 10 $7 \times 10 =$ 70 $1 \times 10 =$ 10 $10 \times 10 =$ 100 $3 \times 10 =$ 30 $3 \times 10 =$ 30 $10 \times 10 =$ $5 \times 10 =$ 50 $0 \times 10 =$ 100 0 $8 \times 10 =$ $2 \times 10 =$ $9 \times 10 =$ $4 \times 10 =$ 80 20 90 40 $1 \times 10 =$ $0 \times 10 =$ $11 \times 10 =$ $8 \times 10 =$ 10 0 110 80 $9 \times 10 =$ $9 \times 10 =$ 90 90 $1 \times 10 =$ 10 $2 \times 10 =$ 20

Mul	tin	lying	bv	10	(B)
IVIUI	up.	191118	Uy	10	(\mathbf{u})

Name:	Da	ate:	Score:
	Calcul	ate each product.	_
$2 \times 10 =$	$7 \times 10 =$	$12 \times 10 = \square$	8 × 10 =
$4 \times 10 =$	$7 \times 10 =$	$4 \times 10 =$	$4 \times 10 =$
$7 \times 10 =$	$10 \times 10 = \square$	11 × 10 =	$10 \times 10 = \square$
$5 \times 10 =$	$9 \times 10 =$	$10 \times 10 = \square$	$5 \times 10 =$
$9 \times 10 =$	$5 \times 10 =$	$3 \times 10 =$	$8 \times 10 =$
$8 \times 10 =$	$4 \times 10 =$	6 × 10 =	$9 \times 10 =$
$1 \times 10 =$	$3 \times 10 =$	1 × 10 =	$3 \times 10 =$
$12 \times 10 = \square$	$12 \times 10 = \square$	$5 \times 10 =$	$1 \times 10 =$
$0 \times 10 =$	$8 \times 10 =$	$12 \times 10 = \square$	$7 \times 10 =$
$3 \times 10 =$	$1 \times 10 =$	$7 \times 10 =$	$0 \times 10 =$
6 × 10 =	$0 \times 10 =$	$4 \times 10 =$	$11 \times 10 = \square$
$10 \times 10 = \square$	$6 \times 10 =$	$0 \times 10 =$	$12 \times 10 = \square$
$11 \times 10 = \square$	$2 \times 10 =$	$9 \times 10 =$	$6 \times 10 =$
$1 \times 10 =$	$11 \times 10 = \square$	8 × 10 =	$4 \times 10 =$
$3 \times 10 =$	$0 \times 10 =$	$2 \times 10 =$	$2 \times 10 =$
$4 \times 10 =$	$10 \times 10 = \square$	$5 \times 10 =$	$10 \times 10 = \square$
$9 \times 10 =$	$9 \times 10 =$	$1 \times 10 =$	$0 \times 10 =$
$10 \times 10 = \square$	$11 \times 10 = \square$	$0 \times 10 =$	$12 \times 10 = \square$
$2 \times 10 =$	$2 \times 10 =$	$2 \times 10 =$	$3 \times 10 =$
$11 \times 10 =$	$3 \times 10 =$	9 × 10 =	$1 \times 10 =$
$6 \times 10 =$	$8 \times 10 =$	$6 \times 10 =$	$6 \times 10 =$
$12 \times 10 = \square$	$6 \times 10 =$	$7 \times 10 =$	$2 \times 10 =$
$8 \times 10 =$	$5 \times 10 =$	$12 \times 10 = \square$	$5 \times 10 =$
$0 \times 10 =$	$7 \times 10 =$	11 × 10 =	$7 \times 10 =$
$5 \times 10 =$	$1 \times 10 =$	$3 \times 10 =$	8 × 10 =

Multiplying by 10 (B) Answers

		- I J	0				
Name:			Date:	_		Score:	_
		Ca	lculate	each product.			
$2 \times 10 =$	20	$7 \times 10 =$	70	$12 \times 10 =$	120	$8 \times 10 =$	80
$4 \times 10 =$	40	$7 \times 10 =$	70	$4 \times 10 =$	40	$4 \times 10 =$	40
$7 \times 10 =$	70	$10 \times 10 =$	100	$11 \times 10 =$	110	$10 \times 10 =$	100
$5 \times 10 =$	50	$9 \times 10 =$	90	$10 \times 10 =$	100	$5 \times 10 =$	50
$9 \times 10 =$	90	$5 \times 10 =$	50	$3 \times 10 =$	30	$8 \times 10 =$	80
$8 \times 10 =$	80	$4 \times 10 =$	40	$6 \times 10 =$	60	$9 \times 10 =$	90
$1 \times 10 =$	10	$3 \times 10 =$	30	$1 \times 10 =$	10	$3 \times 10 =$	30
$12 \times 10 =$	120	$12 \times 10 =$	120	$5 \times 10 =$	50	$1 \times 10 =$	10
$0 \times 10 =$	0	$8 \times 10 =$	80	$12 \times 10 =$	120	$7 \times 10 =$	70
$3 \times 10 =$	30	$1 \times 10 =$	10	$7 \times 10 =$	70	$0 \times 10 =$	0
$6 \times 10 =$	60	$0 \times 10 =$	0	$4 \times 10 =$	40	$11 \times 10 =$	110
$10 \times 10 =$	100	$6 \times 10 =$	60	$0 \times 10 =$	0	$12 \times 10 =$	120
$11 \times 10 =$	110	$2 \times 10 =$	20	$9 \times 10 =$	90	$6 \times 10 =$	60
$1 \times 10 =$	10	$11 \times 10 =$	110	$8 \times 10 =$	80	$4 \times 10 =$	40
$3 \times 10 =$	30	$0 \times 10 =$	0	$2 \times 10 =$	20	$2 \times 10 =$	20
$4 \times 10 =$	40	$10 \times 10 =$	100	$5 \times 10 =$	50	$10 \times 10 =$	100
$9 \times 10 =$	90	$9 \times 10 =$	90	$1 \times 10 =$	10	$0 \times 10 =$	0
$10 \times 10 =$	100	$11 \times 10 =$	110	$0 \times 10 =$	0	$12 \times 10 =$	120
$2 \times 10 =$	20	$2 \times 10 =$	20	$2 \times 10 =$	20	$3 \times 10 =$	30
$11 \times 10 =$	110	$3 \times 10 =$	30	$9 \times 10 =$	90	$1 \times 10 =$	10
$6 \times 10 =$	60	$8 \times 10 =$	80	$6 \times 10 =$	60	$6 \times 10 =$	60
$12 \times 10 =$	120	$6 \times 10 =$	60	$7 \times 10 =$	70	$2 \times 10 =$	20
$8 \times 10 =$	80	$5 \times 10 =$	50	$12 \times 10 =$	120	$5 \times 10 =$	50

70

10

 $11 \times 10 =$

 $3 \times 10 =$

110

30

 $7 \times 10 =$

 $8 \times 10 =$

70

80

 $7 \times 10 =$

 $1 \times 10 =$

 $0 \times 10 =$

 $5 \times 10 =$

0

50

Mult	inly	ring	hv	10	(\mathbf{C})
mul	трту	mg	Uy	10	$(oldsymbol{\cup})$

Name:	Da	ate:	Score:
	Calcul	ate each product.	
$6 \times 10 =$	$10 \times 10 = \square$	$3 \times 10 =$	$9 \times 10 =$
$9 \times 10 =$	$7 \times 10 =$	11 × 10 =	$2 \times 10 =$
$2 \times 10 =$	$8 \times 10 =$	$7 \times 10 =$	8 × 10 =
$8 \times 10 =$	11 × 10 =	9 × 10 =	6 × 10 =
$7 \times 10 =$	$12 \times 10 = \square$	$5 \times 10 =$	$2 \times 10 =$
$11 \times 10 =$	$10 \times 10 = \square$	6 × 10 =	$1 \times 10 =$
$10 \times 10 = \square$	$5 \times 10 =$	$2 \times 10 =$	$7 \times 10 =$
$3 \times 10 =$	$3 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$
$4 \times 10 =$	$4 \times 10 =$	$10 \times 10 =$	$12 \times 10 = \square$
$1 \times 10 =$	$0 \times 10 =$	$3 \times 10 =$	9 × 10 =
$0 \times 10 =$	$1 \times 10 =$	8 × 10 =	$4 \times 10 = \square$
$5 \times 10 =$	$6 \times 10 =$	$12 \times 10 = \square$	$0 \times 10 =$
$12 \times 10 = \square$	9 × 10 =	1 × 10 =	$3 \times 10 =$
$7 \times 10 =$	$2 \times 10 =$	11 × 10 =	8 × 10 =
$11 \times 10 = \square$	$2 \times 10 =$	$4 \times 10 =$	$5 \times 10 =$
$2 \times 10 =$	$4 \times 10 =$	$7 \times 10 =$	$11 \times 10 = \square$
$5 \times 10 =$	$1 \times 10 =$	$10 \times 10 = \square$	6 × 10 =
$4 \times 10 =$	$9 \times 10 =$	$4 \times 10 =$	$0 \times 10 =$
$3 \times 10 =$	$12 \times 10 = \square$	1 × 10 =	$4 \times 10 = \square$
$8 \times 10 =$	$7 \times 10 =$	$3 \times 10 =$	9 × 10 =
$9 \times 10 =$	6 × 10 =	11 × 10 =	$7 \times 10 =$
$1 \times 10 =$	$8 \times 10 =$	$5 \times 10 =$	$2 \times 10 = \square$
$6 \times 10 =$	$10 \times 10 = \square$	$12 \times 10 = \square$	$1 \times 10 =$
$0 \times 10 =$	$0 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$
$12 \times 10 = \square$	$5 \times 10 =$	6 × 10 =	$12 \times 10 = \square$

Multiplying by 10 (C) Answers

Name:			Date:			Score:	
		Ca	lculate	each product.			
$6 \times 10 =$	60	$10 \times 10 =$	100	$3 \times 10 =$	30	$9 \times 10 =$	90
$9 \times 10 =$	90	$7 \times 10 =$	70	$11 \times 10 =$	110	$2 \times 10 =$	20
$2 \times 10 =$	20	$8 \times 10 =$	80	$7 \times 10 =$	70	$8 \times 10 =$	80
$8 \times 10 =$	80	$11 \times 10 =$	110	$9 \times 10 =$	90	$6 \times 10 =$	60
$7 \times 10 =$	70	$12 \times 10 =$	120	$5 \times 10 =$	50	$2 \times 10 =$	20
$11 \times 10 =$	110	$10 \times 10 =$	100	$6 \times 10 =$	60	$1 \times 10 =$	10
$10 \times 10 =$	100	$5 \times 10 =$	50	$2 \times 10 =$	20	$7 \times 10 =$	70
$3 \times 10 =$	30	$3 \times 10 =$	30	$0 \times 10 =$	0	$10 \times 10 =$	100
$4 \times 10 =$	40	$4 \times 10 =$	40	$10 \times 10 =$	100	$12 \times 10 =$	120
$1 \times 10 =$	10	$0 \times 10 =$	0	$3 \times 10 =$	30	$9 \times 10 =$	90
$0 \times 10 =$	0	$1 \times 10 =$	10	$8 \times 10 =$	80	$4 \times 10 =$	40
$5 \times 10 =$	50	$6 \times 10 =$	60	$12 \times 10 =$	120	$0 \times 10 =$	0
$12 \times 10 =$	120	$9 \times 10 =$	90	$1 \times 10 =$	10	$3 \times 10 =$	30
$7 \times 10 =$	70	$2 \times 10 =$	20	$11 \times 10 =$	110	$8 \times 10 =$	80
$11 \times 10 =$	110	$2 \times 10 =$	20	$4 \times 10 =$	40	$5 \times 10 =$	50
$2 \times 10 =$	20	$4 \times 10 =$	40	$7 \times 10 =$	70	$11 \times 10 =$	110
$5 \times 10 =$	50	$1 \times 10 =$	10	$10 \times 10 =$	100	$6 \times 10 =$	60
$4 \times 10 =$	40	$9 \times 10 =$	90	$4 \times 10 =$	40	$0 \times 10 =$	0
$3 \times 10 =$	30	$12 \times 10 =$	120	$1 \times 10 =$	10	$4 \times 10 =$	40
$8 \times 10 =$	80	$7 \times 10 =$	70	$3 \times 10 =$	30	$9 \times 10 =$	90
$9 \times 10 =$	90	$6 \times 10 =$	60	$11 \times 10 =$	110	$7 \times 10 =$	70
$1 \times 10 =$	10	$8 \times 10 =$	80	$5 \times 10 =$	50	$2 \times 10 =$	20
$6 \times 10 =$	60	$10 \times 10 =$	100	$12 \times 10 =$	120	$1 \times 10 =$	10
$0 \times 10 =$	0	$0 \times 10 =$	0	$0 \times 10 =$	0	$10 \times 10 =$	100
$12 \times 10 =$	120	5 × 10 =	50	6 × 10 =	60	$12 \times 10 =$	120

3 . 1	1 •	1	4.0	(D)
N/1111f1	plying	hw	$\mathbf{I}(0)$	(
mulu	prymg	υy	TO	(\mathbf{L})

Name:	Da	ate:	Score:
	Calcul	ate each product.	
$6 \times 10 =$	$1 \times 10 =$	$4 \times 10 =$	$2 \times 10 =$
$1 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$	11 × 10 =
$12 \times 10 = \square$	$4 \times 10 =$	$0 \times 10 =$	$5 \times 10 =$
$5 \times 10 =$	$10 \times 10 = \square$	$3 \times 10 =$	$12 \times 10 = \square$
$7 \times 10 =$	$2 \times 10 =$	$7 \times 10 =$	6 × 10 =
$9 \times 10 =$	$11 \times 10 = \square$	$2 \times 10 =$	$2 \times 10 =$
$3 \times 10 =$	$1 \times 10 =$	$12 \times 10 = \square$	$10 \times 10 = \square$
$0 \times 10 =$	$5 \times 10 =$	$9 \times 10 =$	$5 \times 10 =$
$11 \times 10 = \square$	$3 \times 10 =$	$10 \times 10 =$	11 × 10 =
$4 \times 10 =$	6 × 10 =	$6 \times 10 =$	8 × 10 =
$8 \times 10 =$	$7 \times 10 =$	$5 \times 10 =$	$1 \times 10 =$
$2 \times 10 =$	8 × 10 =	$1 \times 10 =$	$3 \times 10 =$
$10 \times 10 =$	9 × 10 =	$8 \times 10 =$	$0 \times 10 =$
$0 \times 10 =$	$12 \times 10 =$	$11 \times 10 =$	9 × 10 =
$10 \times 10 = \square$	$9 \times 10 =$	$4 \times 10 =$	$4 \times 10 =$
$11 \times 10 = \square$	$11 \times 10 =$	$12 \times 10 =$	$7 \times 10 =$
$2 \times 10 =$	$0 \times 10 =$	$0 \times 10 =$	$7 \times 10 =$
$4 \times 10 =$	$7 \times 10 =$	$10 \times 10 =$	11 × 10 =
$5 \times 10 =$	$8 \times 10 =$	$4 \times 10 =$	9 × 10 =
$6 \times 10 =$	6 × 10 =	$1 \times 10 =$	$10 \times 10 =$
$7 \times 10 =$	$2 \times 10 =$	$6 \times 10 =$	$0 \times 10 =$
$8 \times 10 =$	$3 \times 10 =$	$9 \times 10 =$	$12 \times 10 =$
$9 \times 10 =$	$12 \times 10 = \square$	$8 \times 10 =$	$3 \times 10 =$
$3 \times 10 =$	$1 \times 10 =$	$7 \times 10 =$	6 × 10 =
$12 \times 10 = \square$	$5 \times 10 =$	$3 \times 10 =$	$2 \times 10 =$

Multiplying by 10 (D) Answers

Name:			Date:			Score:	
			lculate	each product.			
$6 \times 10 =$	60	$1 \times 10 =$	10	$4 \times 10 =$	40	$2 \times 10 =$	20
$1 \times 10 =$	10	$0 \times 10 =$	0	$10 \times 10 =$	100	$11 \times 10 =$	110
$12 \times 10 =$	120	$4 \times 10 =$	40	$0 \times 10 =$	0	$5 \times 10 =$	50
$5 \times 10 =$	50	$10 \times 10 =$	100	$3 \times 10 =$	30	$12 \times 10 =$	120
$7 \times 10 =$	70	$2 \times 10 =$	20	$7 \times 10 =$	70	$6 \times 10 =$	60
$9 \times 10 =$	90	$11 \times 10 =$	110	$2 \times 10 =$	20	$2 \times 10 =$	20
$3 \times 10 =$	30	$1 \times 10 =$	10	$12 \times 10 =$	120	$10 \times 10 =$	100
$0 \times 10 =$	0	$5 \times 10 =$	50	$9 \times 10 =$	90	$5 \times 10 =$	50
$11 \times 10 =$	110	$3 \times 10 =$	30	$10 \times 10 =$	100	$11 \times 10 =$	110
$4 \times 10 =$	40	$6 \times 10 =$	60	$6 \times 10 =$	60	$8 \times 10 =$	80
$8 \times 10 =$	80	$7 \times 10 =$	70	$5 \times 10 =$	50	$1 \times 10 =$	10
$2 \times 10 =$	20	$8 \times 10 =$	80	$1 \times 10 =$	10	$3 \times 10 =$	30
$10 \times 10 =$	100	$9 \times 10 =$	90	$8 \times 10 =$	80	$0 \times 10 =$	0
$0 \times 10 =$	0	$12 \times 10 =$	120	$11 \times 10 =$	110	$9 \times 10 =$	90
$10 \times 10 =$	100	$9 \times 10 =$	90	$4 \times 10 =$	40	$4 \times 10 =$	40
$11 \times 10 =$	110	$11 \times 10 =$	110	$12 \times 10 =$	120	$7 \times 10 =$	70
$2 \times 10 =$	20	$0 \times 10 =$	0	$0 \times 10 =$	0	$7 \times 10 =$	70
$4 \times 10 =$	40	$7 \times 10 =$	70	$10 \times 10 =$	100	$11 \times 10 =$	110
$5 \times 10 =$	50	$8 \times 10 =$	80	$4 \times 10 =$	40	$9 \times 10 =$	90
$6 \times 10 =$	60	$6 \times 10 =$	60	$1 \times 10 =$	10	$10 \times 10 =$	100
$7 \times 10 =$	70	$2 \times 10 =$	20	$6 \times 10 =$	60	$0 \times 10 =$	0
$8 \times 10 =$	80	$3 \times 10 =$	30	$9 \times 10 =$	90	$12 \times 10 =$	120
$9 \times 10 =$	90	$12 \times 10 =$	120	$8 \times 10 =$	80	$3 \times 10 =$	30
$3 \times 10 =$	30	$1 \times 10 =$	10	$7 \times 10 =$	70	$6 \times 10 =$	60
$12 \times 10 =$	120	$5 \times 10 =$	50	$3 \times 10 =$	30	$2 \times 10 =$	20

Mul	[tip]	lying	bv	10	(E)
IVIUI	LLI P	191118	Uy	10	(\mathbf{L})

Name:	Da	te:	Score:	
	Calcul	ate each product.		
$11 \times 10 =$	$7 \times 10 =$	$3 \times 10 =$	$10 \times 10 =$	
$4 \times 10 =$	4 × 10 =	9 × 10 =	9 × 10 =	
$12 \times 10 =$	9 × 10 =	5 × 10 =	$4 \times 10 =$	
$5 \times 10 =$	$5 \times 10 =$	$7 \times 10 =$	6 × 10 =	
$1 \times 10 =$	$10 \times 10 =$	9 × 10 =	$1 \times 10 =$	
$9 \times 10 =$	$7 \times 10 =$	$6 \times 10 =$	$7 \times 10 =$	
$6 \times 10 =$	$8 \times 10 =$	11 × 10 =	$12 \times 10 = \square$	
$3 \times 10 =$	$3 \times 10 =$	$10 \times 10 = \square$	$10 \times 10 =$	
$7 \times 10 =$	$0 \times 10 =$	$12 \times 10 = \square$	$3 \times 10 =$	
$0 \times 10 =$	$2 \times 10 =$	$2 \times 10 =$	$0 \times 10 =$	
$8 \times 10 =$	$12 \times 10 = \square$	$8 \times 10 =$	$4 \times 10 =$	
$2 \times 10 =$	$1 \times 10 =$	$3 \times 10 =$	$8 \times 10 =$	
$10 \times 10 =$	$11 \times 10 =$	$4 \times 10 =$	$11 \times 10 = \square$	
$12 \times 10 = \boxed{}$	$6 \times 10 =$	$0 \times 10 =$	$5 \times 10 =$	
$1 \times 10 =$	$12 \times 10 = \square$	$1 \times 10 =$	$2 \times 10 =$	
$3 \times 10 =$	$1 \times 10 =$	$5 \times 10 =$	$9 \times 10 =$	
$2 \times 10 =$	$10 \times 10 =$	$8 \times 10 =$	$6 \times 10 =$	
$10 \times 10 =$	$5 \times 10 =$	$0 \times 10 =$	$12 \times 10 = \square$	
$0 \times 10 =$	$4 \times 10 =$	$2 \times 10 =$	$9 \times 10 =$	
$5 \times 10 =$	$8 \times 10 =$	$1 \times 10 =$	$5 \times 10 =$	
$11 \times 10 =$	$2 \times 10 =$	$3 \times 10 =$	$3 \times 10 =$	
$6 \times 10 =$	$7 \times 10 =$	$6 \times 10 =$	8 × 10 =	
$9 \times 10 =$	$11 \times 10 = \square$	$11 \times 10 = \square$	$4 \times 10 =$	
$4 \times 10 =$	$6 \times 10 =$	$12 \times 10 = \square$	$7 \times 10 =$	
$8 \times 10 =$	$0 \times 10 =$	$7 \times 10 =$	$1 \times 10 =$	

Multiplying by 10 (E) Answers

Name:	Date:	Score:
	· · · · · · · · · · · · · · · · · · ·	

Calculate each product.

0

 $7 \times 10 =$

70

 $1 \times 10 =$

10

 $8 \times 10 =$

80

 $0 \times 10 =$

Mul	tin]	lying	hv	10	(F)
IVIU	up	Lyma	Uy	10	(+)

Name:	Dat	te:	Score:					
	Calculate each product.							
$3 \times 10 =$	$12 \times 10 = \square$	$4 \times 10 =$	6 × 10 =					
$12 \times 10 = \square$	$9 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$					
$8 \times 10 =$	$10 \times 10 =$	$11 \times 10 =$	$8 \times 10 =$					
$1 \times 10 =$	$1 \times 10 =$	$3 \times 10 =$	$9 \times 10 = \square$					
$0 \times 10 =$	$8 \times 10 =$	$0 \times 10 =$	$0 \times 10 =$					
$9 \times 10 =$	$4 \times 10 =$	$12 \times 10 =$	$3 \times 10 =$					
$2 \times 10 =$	$2 \times 10 =$	$2 \times 10 =$	$12 \times 10 = \square$					
$11 \times 10 =$	$6 \times 10 =$	$1 \times 10 =$	$10 \times 10 = \square$					
$7 \times 10 =$	$5 \times 10 =$	$5 \times 10 =$	$6 \times 10 =$					
$6 \times 10 =$	$3 \times 10 =$	$10 \times 10 =$	$7 \times 10 =$					
$5 \times 10 =$	$11 \times 10 =$	$9 \times 10 =$	$2 \times 10 = \square$					
$4 \times 10 =$	$12 \times 10 =$	$8 \times 10 =$	$1 \times 10 =$					
$10 \times 10 = \Box$	$0 \times 10 =$	$6 \times 10 =$	$4 \times 10 =$					
$7 \times 10 =$	$7 \times 10 =$	$4 \times 10 =$	$8 \times 10 =$					
$6 \times 10 =$	$6 \times 10 =$	$7 \times 10 =$	$5 \times 10 =$					
$9 \times 10 =$	$3 \times 10 =$	$12 \times 10 =$	$11 \times 10 = \square$					
$1 \times 10 =$	$10 \times 10 =$	$2 \times 10 =$	$6 \times 10 =$					
$8 \times 10 =$	$5 \times 10 =$	$3 \times 10 =$	$4 \times 10 =$					
$2 \times 10 =$	$11 \times 10 =$	$7 \times 10 =$	$1 \times 10 =$					
$11 \times 10 =$	$1 \times 10 =$	$9 \times 10 =$	$0 \times 10 =$					
$4 \times 10 =$	$9 \times 10 =$	$4 \times 10 =$	$12 \times 10 = \square$					
$0 \times 10 =$	$12 \times 10 =$	$5 \times 10 =$	$9 \times 10 =$					
$10 \times 10 =$	$8 \times 10 =$	$1 \times 10 =$	$10 \times 10 = \square$					
$5 \times 10 =$	$7 \times 10 =$	$11 \times 10 =$	$11 \times 10 = \square$					
$3 \times 10 =$	$2 \times 10 = \square$	$0 \times 10 =$	$2 \times 10 = \square$					

Multiplying by 10 (F) Answers

Name:			Date:			Score:		
	Calculate each product.							
$3 \times 10 =$	30	$12 \times 10 =$	120	$4 \times 10 =$	40	$6 \times 10 =$	60	
$12 \times 10 =$	120	$9 \times 10 =$	90	$0 \times 10 =$	0	$10 \times 10 =$	100	
$8 \times 10 =$	80	$10 \times 10 =$	100	$11 \times 10 =$	110	$8 \times 10 =$	80	
$1 \times 10 =$	10	$1 \times 10 =$	10	$3 \times 10 =$	30	$9 \times 10 =$	90	
$0 \times 10 =$	0	$8 \times 10 =$	80	$0 \times 10 =$	0	$0 \times 10 =$	0	
$9 \times 10 =$	90	$4 \times 10 =$	40	$12 \times 10 =$	120	$3 \times 10 =$	30	
$2 \times 10 =$	20	$2 \times 10 =$	20	$2 \times 10 =$	20	$12 \times 10 =$	120	
$11 \times 10 =$	110	$6 \times 10 =$	60	$1 \times 10 =$	10	$10 \times 10 =$	100	
$7 \times 10 =$	70	$5 \times 10 =$	50	$5 \times 10 =$	50	$6 \times 10 =$	60	
$6 \times 10 =$	60	$3 \times 10 =$	30	$10 \times 10 =$	100	$7 \times 10 =$	70	
$5 \times 10 =$	50	$11 \times 10 =$	110	$9 \times 10 =$	90	$2 \times 10 =$	20	
$4 \times 10 =$	40	$12 \times 10 =$	120	$8 \times 10 =$	80	$1 \times 10 =$	10	
$10 \times 10 =$	100	$0 \times 10 =$	0	$6 \times 10 =$	60	$4 \times 10 =$	40	
$7 \times 10 =$	70	$7 \times 10 =$	70	$4 \times 10 =$	40	$8 \times 10 =$	80	
$6 \times 10 =$	60	$6 \times 10 =$	60	$7 \times 10 =$	70	$5 \times 10 =$	50	
$9 \times 10 =$	90	$3 \times 10 =$	30	$12 \times 10 =$	120	$11 \times 10 =$	110	
$1 \times 10 =$	10	$10 \times 10 =$	100	$2 \times 10 =$	20	$6 \times 10 =$	60	
$8 \times 10 =$	80	$5 \times 10 =$	50	$3 \times 10 =$	30	$4 \times 10 =$	40	
$2 \times 10 =$	20	$11 \times 10 =$	110	$7 \times 10 =$	70	$1 \times 10 =$	10	
$11 \times 10 =$	110	$1 \times 10 =$	10	$9 \times 10 =$	90	$0 \times 10 =$	0	
$4 \times 10 =$	40	$9 \times 10 =$	90	$4 \times 10 =$	40	$12 \times 10 =$	120	
$0 \times 10 =$	0	$12 \times 10 =$	120	$5 \times 10 =$	50	$9 \times 10 =$	90	
$10 \times 10 =$	100	$8 \times 10 =$	80	$1 \times 10 =$	10	$10 \times 10 =$	100	
$5 \times 10 =$	50	$7 \times 10 =$	70	$11 \times 10 =$	110	$11 \times 10 =$	110	
$3 \times 10 =$	30	$2 \times 10 =$	20	$0 \times 10 =$	0	$2 \times 10 =$	20	

Multi	plying	bv 1	10 (\mathbf{G}
111011	P - ,	<i>-</i>	(\cdot

Name:	Da	te:	Score:					
	Calculate each product.							
$6 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$	$5 \times 10 =$					
$7 \times 10 =$	$12 \times 10 = \square$	$11 \times 10 = \square$	$0 \times 10 =$					
$1 \times 10 =$	$11 \times 10 = $	$6 \times 10 =$	$4 \times 10 =$					
$12 \times 10 = \square$	$2 \times 10 =$	$7 \times 10 =$	$10 \times 10 = \square$					
$9 \times 10 =$	$3 \times 10 =$	$9 \times 10 =$	$7 \times 10 =$					
$2 \times 10 =$	$4 \times 10 =$	$3 \times 10 =$	$5 \times 10 =$					
$3 \times 10 =$	$10 \times 10 =$	$10 \times 10 = \square$	$2 \times 10 =$					
$8 \times 10 =$	$9 \times 10 =$	$4 \times 10 =$	$11 \times 10 = \square$					
$0 \times 10 =$	$0 \times 10 =$	$8 \times 10 =$	$3 \times 10 =$					
$5 \times 10 =$	$5 \times 10 =$	$2 \times 10 =$	$1 \times 10 =$					
$11 \times 10 = \square$	$1 \times 10 =$	$5 \times 10 =$	$6 \times 10 =$					
$4 \times 10 =$	$8 \times 10 =$	$1 \times 10 =$	$4 \times 10 =$					
$10 \times 10 = \square$	$7 \times 10 =$	$11 \times 10 =$	$12 \times 10 = \square$					
$5 \times 10 =$	$6 \times 10 =$	$0 \times 10 =$	$9 \times 10 =$					
$3 \times 10 =$	$12 \times 10 =$	$12 \times 10 = \square$	$0 \times 10 =$					
$6 \times 10 =$	$0 \times 10 =$	$2 \times 10 =$	$8 \times 10 =$					
$9 \times 10 =$	$9 \times 10 =$	$10 \times 10 =$	$2 \times 10 =$					
$10 \times 10 = \square$	$8 \times 10 =$	$1 \times 10 =$	$3 \times 10 =$					
$12 \times 10 = \square$	$5 \times 10 =$	$7 \times 10 =$	$10 \times 10 = \square$					
$2 \times 10 =$	$7 \times 10 =$	$3 \times 10 =$	11 × 10 =					
$11 \times 10 = \square$	$4 \times 10 =$	$12 \times 10 =$	$9 \times 10 =$					
$4 \times 10 =$	$1 \times 10 =$	$11 \times 10 =$	$12 \times 10 = \square$					
$8 \times 10 =$	$2 \times 10 =$	$6 \times 10 =$	$6 \times 10 =$					
$1 \times 10 =$	$3 \times 10 =$	$9 \times 10 =$	$5 \times 10 =$					
$7 \times 10 =$	$6 \times 10 =$	$8 \times 10 =$	$7 \times 10 = \square$					

Multiplying by 10 (G) Answers

Name:			Date:			Score:		
	Calculate each product.							
$6 \times 10 =$	60	$0 \times 10 =$	0	$10 \times 10 =$	100	$5 \times 10 =$	50	
$7 \times 10 =$	70	$12 \times 10 =$	120	$11 \times 10 =$	110	$0 \times 10 =$	0	
$1 \times 10 =$	10	$11 \times 10 =$	110	$6 \times 10 =$	60	$4 \times 10 =$	40	
$12 \times 10 =$	120	$2 \times 10 =$	20	$7 \times 10 =$	70	$10 \times 10 =$	100	
$9 \times 10 =$	90	$3 \times 10 =$	30	$9 \times 10 =$	90	$7 \times 10 =$	70	
$2 \times 10 =$	20	$4 \times 10 =$	40	$3 \times 10 =$	30	$5 \times 10 =$	50	
$3 \times 10 =$	30	$10 \times 10 =$	100	$10 \times 10 =$	100	$2 \times 10 =$	20	
$8 \times 10 =$	80	$9 \times 10 =$	90	$4 \times 10 =$	40	$11 \times 10 =$	110	
$0 \times 10 =$	0	$0 \times 10 =$	0	$8 \times 10 =$	80	$3 \times 10 =$	30	
$5 \times 10 =$	50	$5 \times 10 =$	50	$2 \times 10 =$	20	$1 \times 10 =$	10	
$11 \times 10 =$	110	$1 \times 10 =$	10	$5 \times 10 =$	50	$6 \times 10 =$	60	
$4 \times 10 =$	40	$8 \times 10 =$	80	$1 \times 10 =$	10	$4 \times 10 =$	40	
$10 \times 10 =$	100	$7 \times 10 =$	70	$11 \times 10 =$	110	$12 \times 10 =$	120	
$5 \times 10 =$	50	$6 \times 10 =$	60	$0 \times 10 =$	0	$9 \times 10 =$	90	
$3 \times 10 =$	30	$12 \times 10 =$	120	$12 \times 10 =$	120	$0 \times 10 =$	0	
$6 \times 10 =$	60	$0 \times 10 =$	0	$2 \times 10 =$	20	$8 \times 10 =$	80	
$9 \times 10 =$	90	$9 \times 10 =$	90	$10 \times 10 =$	100	$2 \times 10 =$	20	
$10 \times 10 =$	100	$8 \times 10 =$	80	$1 \times 10 =$	10	$3 \times 10 =$	30	
$12 \times 10 =$	120	$5 \times 10 =$	50	$7 \times 10 =$	70	$10 \times 10 =$	100	
$2 \times 10 =$	20	$7 \times 10 =$	70	$3 \times 10 =$	30	$11 \times 10 =$	110	
$11 \times 10 =$	110	$4 \times 10 =$	40	$12 \times 10 =$	120	$9 \times 10 =$	90	
$4 \times 10 =$	40	$1 \times 10 =$	10	$11 \times 10 =$	110	$12 \times 10 =$	120	
$8 \times 10 =$	80	$2 \times 10 =$	20	$6 \times 10 =$	60	$6 \times 10 =$	60	
1 × 10 -	10	3 × 10 -	30	9 × 10 –	90	5 × 10 -	50	

60

 $8 \times 10 =$

80

 $7 \times 10 =$

70

 $6 \times 10 =$

 $7 \times 10 =$

70

Multi	plvin	g by	10 ((H)
111 0111	P	5	- 0 (/

Name:	Da	ate:	Score:
	Calcul	ate each product.	
$5 \times 10 =$	$0 \times 10 =$	$4 \times 10 =$	$0 \times 10 =$
$8 \times 10 =$	$12 \times 10 = $	$6 \times 10 =$	$5 \times 10 = \square$
$10 \times 10 = \boxed{}$	$7 \times 10 =$	$12 \times 10 = \square$	11 × 10 =
$11 \times 10 =$	$0 \times 10 =$	$0 \times 10 =$	6 × 10 =
$0 \times 10 =$	$10 \times 10 =$	$8 \times 10 =$	$5 \times 10 =$
$4 \times 10 =$	$9 \times 10 =$	$7 \times 10 =$	11 × 10 =
$7 \times 10 =$	$11 \times 10 = \square$	$4 \times 10 =$	8 × 10 =
$2 \times 10 =$	$6 \times 10 =$	$1 \times 10 =$	9 × 10 =
$1 \times 10 =$	$1 \times 10 =$	$11 \times 10 =$	1 × 10 =
$6 \times 10 =$	$8 \times 10 =$	$2 \times 10 =$	$12 \times 10 = \square$
$3 \times 10 =$	$5 \times 10 =$	$6 \times 10 =$	$10 \times 10 = \square$
$12 \times 10 = \square$	$2 \times 10 =$	$10 \times 10 =$	$2 \times 10 =$
$9 \times 10 =$	$3 \times 10 =$	$5 \times 10 =$	$0 \times 10 =$
$7 \times 10 =$	$4 \times 10 =$	$3 \times 10 =$	$7 \times 10 =$
$10 \times 10 = \square$	$7 \times 10 =$	$9 \times 10 =$	$3 \times 10 =$
$2 \times 10 =$	$2 \times 10 =$	$12 \times 10 =$	$4 \times 10 =$
$9 \times 10 =$	$3 \times 10 =$	$8 \times 10 =$	$10 \times 10 = \square$
$8 \times 10 =$	$0 \times 10 =$	$9 \times 10 =$	$12 \times 10 = \square$
$12 \times 10 = \square$	$9 \times 10 =$	$1 \times 10 =$	$5 \times 10 =$
$11 \times 10 = \square$	$5 \times 10 =$	$6 \times 10 =$	$9 \times 10 =$
$4 \times 10 =$	$11 \times 10 =$	$2 \times 10 =$	$0 \times 10 =$
$1 \times 10 =$	$1 \times 10 =$	$3 \times 10 =$	$4 \times 10 =$
$5 \times 10 =$	$10 \times 10 =$	$7 \times 10 =$	$2 \times 10 =$
$3 \times 10 =$	$8 \times 10 =$	$4 \times 10 =$	11 × 10 =
$6 \times 10 =$	$12 \times 10 =$	$10 \times 10 =$	$6 \times 10 =$

Multiplying by 10 (H) Answers

Name:			Date:			Score:	
			lculate	each product.			
$5 \times 10 =$	50	$0 \times 10 =$	0	$4 \times 10 =$	40	$0 \times 10 =$	0
$8 \times 10 =$	80	$12 \times 10 =$	120	$6 \times 10 =$	60	$5 \times 10 =$	50
$10 \times 10 =$	100	$7 \times 10 =$	70	$12 \times 10 =$	120	$11 \times 10 =$	110
$11 \times 10 =$	110	$0 \times 10 =$	0	$0 \times 10 =$	0	$6 \times 10 =$	60
$0 \times 10 =$	0	$10 \times 10 =$	100	$8 \times 10 =$	80	$5 \times 10 =$	50
$4 \times 10 =$	40	$9 \times 10 =$	90	$7 \times 10 =$	70	$11 \times 10 =$	110
$7 \times 10 =$	70	$11 \times 10 =$	110	$4 \times 10 =$	40	$8 \times 10 =$	80
$2 \times 10 =$	20	$6 \times 10 =$	60	$1 \times 10 =$	10	$9 \times 10 =$	90
$1 \times 10 =$	10	$1 \times 10 =$	10	$11 \times 10 =$	110	$1 \times 10 =$	10
$6 \times 10 =$	60	$8 \times 10 =$	80	$2 \times 10 =$	20	$12 \times 10 =$	120
$3 \times 10 =$	30	$5 \times 10 =$	50	$6 \times 10 =$	60	$10 \times 10 =$	100
$12 \times 10 =$	120	$2 \times 10 =$	20	$10 \times 10 =$	100	$2 \times 10 =$	20
$9 \times 10 =$	90	$3 \times 10 =$	30	$5 \times 10 =$	50	$0 \times 10 =$	0
$7 \times 10 =$	70	$4 \times 10 =$	40	$3 \times 10 =$	30	$7 \times 10 =$	70
$10 \times 10 =$	100	$7 \times 10 =$	70	$9 \times 10 =$	90	$3 \times 10 =$	30
$2 \times 10 =$	20	$2 \times 10 =$	20	$12 \times 10 =$	120	$4 \times 10 =$	40
$9 \times 10 =$	90	$3 \times 10 =$	30	$8 \times 10 =$	80	$10 \times 10 =$	100
$8 \times 10 =$	80	$0 \times 10 =$	0	$9 \times 10 =$	90	$12 \times 10 =$	120
$12 \times 10 =$	120	$9 \times 10 =$	90	$1 \times 10 =$	10	$5 \times 10 =$	50
$11 \times 10 =$	110	$5 \times 10 =$	50	$6 \times 10 =$	60	$9 \times 10 =$	90
$4 \times 10 =$	40	$11 \times 10 =$	110	$2 \times 10 =$	20	$0 \times 10 =$	0
$1 \times 10 =$	10	$1 \times 10 =$	10	$3 \times 10 =$	30	$4 \times 10 =$	40
$5 \times 10 =$	50	$10 \times 10 =$	100	$7 \times 10 =$	70	$2 \times 10 =$	20
$3 \times 10 =$	30	$8 \times 10 =$	80	$4 \times 10 =$	40	$11 \times 10 =$	110

120

 $10 \times 10 =$

100

 $6 \times 10 =$

60

 $12 \times 10 =$

 $6 \times 10 =$

60

Multi [*]	plying	bv	10 ((I)
	~ - ,	\sim ,	,	,

Name:	Date	:	Score:
	Calculate	e each product.	_
$6 \times 10 =$	$3 \times 10 =$	$6 \times 10 =$	8 × 10 =
$11 \times 10 =$	$7 \times 10 =$	$7 \times 10 =$	$11 \times 10 = \square$
$7 \times 10 =$	9 × 10 =	$2 \times 10 =$	$4 \times 10 =$
$9 \times 10 =$	10 × 10 =	$1 \times 10 =$	$5 \times 10 =$
$3 \times 10 =$	12 × 10 =	$5 \times 10 =$	$9 \times 10 =$
$5 \times 10 =$	$5 \times 10 =$	$4 \times 10 =$	$0 \times 10 =$
$2 \times 10 =$	$4 \times 10 =$	$11 \times 10 = \square$	$11 \times 10 = \square$
$4 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$	$2 \times 10 = \square$
$0 \times 10 =$	$2 \times 10 =$	$6 \times 10 =$	$6 \times 10 =$
$1 \times 10 =$	11 × 10 =	$12 \times 10 = \square$	$1 \times 10 =$
$10 \times 10 =$	6 × 10 =	$3 \times 10 =$	$10 \times 10 = \square$
$12 \times 10 = \square$	$3 \times 10 =$	$0 \times 10 =$	$7 \times 10 =$
$8 \times 10 =$	8 × 10 =	$9 \times 10 =$	$12 \times 10 = \square$
$5 \times 10 =$	1 × 10 =	$8 \times 10 =$	$4 \times 10 = \square$
$1 \times 10 =$	$12 \times 10 = \square$	$7 \times 10 =$	$8 \times 10 =$
$7 \times 10 =$	$4 \times 10 =$	$9 \times 10 =$	$3 \times 10 =$
$8 \times 10 =$	8 × 10 =	$10 \times 10 = \square$	$8 \times 10 =$
$11 \times 10 =$	$10 \times 10 =$	$3 \times 10 =$	$7 \times 10 =$
$4 \times 10 =$	$5 \times 10 =$	$1 \times 10 =$	$1 \times 10 =$
$0 \times 10 =$	$0 \times 10 =$	$6 \times 10 =$	$5 \times 10 =$
$12 \times 10 = $	1 × 10 =	$2 \times 10 =$	$12 \times 10 = \square$
$10 \times 10 = $	9 × 10 =	$0 \times 10 =$	10 × 10 =
$2 \times 10 =$	3 × 10 =	$12 \times 10 = \square$	$6 \times 10 =$
$9 \times 10 =$	$2 \times 10 =$	$7 \times 10 =$	9 × 10 =
$6 \times 10 = $	11 × 10 =	$5 \times 10 = \boxed{}$	4 × 10 =

Multiplying by 10 (I) Answers

Name:	Date:	Score:

Calculate each product.

$$11 \times 10 = \boxed{110}$$
 $10 \times 10 = \boxed{100}$ $3 \times 10 = \boxed{30}$ $7 \times 10 = \boxed{70}$

$$4 \times 10 = \boxed{40}$$
 $5 \times 10 = \boxed{50}$ $1 \times 10 = \boxed{10}$ $1 \times 10 = \boxed{10}$

$$0 \times 10 = \boxed{0}$$
 $0 \times 10 = \boxed{0}$ $6 \times 10 = \boxed{60}$ $5 \times 10 = \boxed{50}$

$$12 \times 10 = 120$$
 $1 \times 10 = 10$ $2 \times 10 = 20$ $12 \times 10 = 120$

$$10 \times 10 = 100$$
 $9 \times 10 = 90$ $0 \times 10 = 0$ $10 \times 10 = 100$

$$2 \times 10 = \boxed{20}$$
 $3 \times 10 = \boxed{30}$ $12 \times 10 = \boxed{120}$ $6 \times 10 = \boxed{60}$

$$9 \times 10 = \boxed{90}$$
 $2 \times 10 = \boxed{20}$ $7 \times 10 = \boxed{70}$ $9 \times 10 = \boxed{90}$

$$6 \times 10 = 60$$
 $11 \times 10 = 110$ $5 \times 10 = 50$ $4 \times 10 = 40$

N /1	1 ئ	:	1	10	/T)
Mui	upi	ying	υy	10	(J)

Name:	Da	ate:	Score:
	Calcul	ate each product.	
$3 \times 10 =$	$8 \times 10 =$	$2 \times 10 =$	$6 \times 10 = \square$
$9 \times 10 =$	$11 \times 10 =$	$3 \times 10 =$	$12 \times 10 = \square$
$8 \times 10 =$	$8 \times 10 =$	$0 \times 10 =$	$0 \times 10 =$
$5 \times 10 =$	$2 \times 10 =$	$7 \times 10 =$	$9 \times 10 =$
$6 \times 10 =$	$9 \times 10 =$	$4 \times 10 =$	$6 \times 10 =$
$0 \times 10 =$	$7 \times 10 =$	$12 \times 10 = \square$	$1 \times 10 =$
$12 \times 10 = \boxed{}$	$0 \times 10 =$	11 × 10 =	$4 \times 10 =$
$7 \times 10 =$	$5 \times 10 =$	$5 \times 10 =$	$12 \times 10 = \square$
$10 \times 10 = \square$	$4 \times 10 =$	$2 \times 10 =$	$7 \times 10 =$
$11 \times 10 = \square$	$1 \times 10 =$	$3 \times 10 =$	$8 \times 10 =$
$1 \times 10 =$	$3 \times 10 =$	$10 \times 10 =$	$10 \times 10 = \square$
$4 \times 10 =$	$6 \times 10 =$	8 × 10 =	$3 \times 10 =$
$2 \times 10 =$	$12 \times 10 = \square$	$1 \times 10 =$	$11 \times 10 = \square$
$6 \times 10 =$	$10 \times 10 = \square$	6 × 10 =	$2 \times 10 = \square$
$10 \times 10 = \square$	$5 \times 10 =$	9 × 10 =	$0 \times 10 =$
$5 \times 10 =$	$8 \times 10 =$	$3 \times 10 =$	$5 \times 10 =$
$9 \times 10 =$	$7 \times 10 =$	9 × 10 =	$1 \times 10 =$
$12 \times 10 = \square$	$1 \times 10 =$	$8 \times 10 =$	$5 \times 10 =$
$0 \times 10 =$	$12 \times 10 =$	$7 \times 10 =$	$9 \times 10 =$
$4 \times 10 =$	$9 \times 10 =$	$5 \times 10 =$	$6 \times 10 =$
$3 \times 10 =$	$6 \times 10 =$	$11 \times 10 =$	$7 \times 10 =$
$7 \times 10 =$	$10 \times 10 =$	$1 \times 10 =$	$2 \times 10 = \square$
$11 \times 10 = \square$	$11 \times 10 =$	$4 \times 10 =$	$3 \times 10 =$
$1 \times 10 =$	$0 \times 10 =$	$10 \times 10 = \square$	$10 \times 10 = \square$
$2 \times 10 =$	$4 \times 10 =$	$2 \times 10 =$	8 × 10 =

Multiplying by 10 (J) Answers

Name:	Date:	Score:			
Calculate each product.					
$2 \times 10 - 20$	0 × 10 00 2 × 10 - 2	0 6 × 10 – 60			